Subject: Re: Compensation circuit when using active crossover
Posted by Wayne Parham on Mon, 27 Mar 2006 21:51:11 GMT
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The series resistor will be dependant on load impedance. Bypass cap is found using the

up and down doubling or halving values 'till you get where you want to be.

Page 1 of 1 ---- Generated from Audi oRoundTabl e. com


https://audioroundtable.com/forum/index.php?t=usrinfo&id=5
https://audioroundtable.com/forum/index.php?t=rview&th=9789&goto=49197#msg_49197
https://audioroundtable.com/forum/index.php?t=post&reply_to=49197
https://audioroundtable.com/forum/index.php

